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Thts paper consists of 8 questzons. Answer any ﬁve questtons
All questions carry equal marks.
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(a) Suppose a market of eggs has following demand and supply functions:

Qu=100-20p ’ ';
Qs =10 + 40p . '

(x) In ethbnum calculate how many eggs would be sold at what pnce"

(ii) What will happen to the quantity demanded and quantity supplied if government ﬁxes the priée at Rs.1 per
egg? Would there be excess demand or excess supply? Show your calculanon .

(b) Using indifference curve and budget lme ex
demand curve will have a negative slope.
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plain the law of demand and show that fora normal good
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(a) Calculate price elastlcnty of demandand supply usmg pomt method from the pomt A toB and from pomt B

to C using mformanon grven in the table below: -

Quantity dema.nd ~f Quantity supply'v - .| Price

A | 20 | 10

B 15 10 15
- C 10 - RER R "..20' |

' (b) What is consumer surplus and producer surplus? With the help of dlagram show how consumer surplus is

* . calculated? 8,7
(m)ﬁwﬁ»lﬁqawﬁﬁ@ﬁ@mAﬁBﬁgawaﬁcﬁgwwmﬁaﬁ
DI a‘ﬁl P IVET X | | |

T D HEAT q;ﬁ’f aﬂ e |oma

A 20 . 5._ . 10
B 15 - 10 “»;‘.;2. s
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v (a) Ram spends his entire income on two goods food and clothmg Now suppose that the pnce of food fall

using diagram depict the followmg cases:
(i) The effect of fall in pnce of food on budget line.

" (ii) The effect of fall in price of food on consumer equrhbnum when substmmon effect is greater than the

income effect.
(iii) The effect of rise in income on consumer S equnhbnum

(b) Discuss the law of dnmmlshmg margmal utlhty and show how the law: of dlmmlshmg marginal utrllty
related with the negatively sloped demand curve. (8,7)
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2 .
(@ Explam the consumer’s equilibrium with the help of md1fference curve techmque What are the effects of

fall in price of a commodity and rise in income on consumer equilibrium when both goods are normal good?
(b)What is the law-of demand? Does the demand curve always slope downward? If not, then under what

circumstances the demand curve is positively sloped. Explain your answer. : (10, 5)
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(a) What is production funcnon" Explain the concepts of economies and dxseconomles of scale?
(b) The followmg table gives total output as a functlon of labour units used

No. of o [T [ 2 T 3 4 | 5
Labour used ' : | :
Total-output 0L 5 9 12 14 S b
(in tonnes) ' C '

(i) Explain the law of diminishing returns. '
(ii) Does the tab[e indicate a situation of dlmlmshmg returns? Explain your answer. 8,7

(a)wmww%?ﬁqﬁaﬁﬁﬁaﬁ?aﬁaﬁwﬁmaﬁi
(a)ﬁmﬁﬁaawﬁmaﬁm%w%mﬁm%

mﬁm‘mw@‘ 0 T2 3 4 15
- @d St | 0 5 o 12 [ 1 |15
- (Em®) | - - | |

(r)azﬁuﬁma%ﬁmzﬁwaﬁml

(ll)wangﬁaaamﬁm%?-aﬁﬁl |

Calculate Total Fixed Cost (TFC) Total Variable Cost (TVC) Average Vanable Cost (AVC), Average Fixed

“Cost (AFC), Average Total Cost (ATC) and Marginal Cost (MC) from the following table. -
‘Output 0 I 2 3 4 5 6 7 | 8 9 110
Total | 100 | 130 150 160 172 185 210 | 240 280 | 330 | 390
Cost '

(1) Suppose market prlce is Rs. 30. How much will the firm produce in the short run? How much are total
profits?

(i) Suppose market price is Rs. 50. How much w111 the ﬁrm produce in the short run? What are total profits?

| (15)
FrefeRad WRe # & TRC, TVC, AFC, AVC, AC 3R MC @ o1 & |

Gl AT | 100] 130 | 150 | 160 | 172 | 185 210 |- 240 [-280 | 330 | 390
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 What i perfect competmon ? Explain the assumptions of a perfectly competmve market Is it correct to say that .

- under short run all competitive firms earn zero profit? ' (15)
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Write short notes.on any two of the following: o (7.5,1.5)
(a) Production possibility Frontier . : .-

_-(b) Pareto efficiency

(c) Paradox of value
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